SDI 405 g% 5,29 AD 404 E= 27775 AD 403 E = 2777.51 AD 402  w- irres AD 401 N = Gereos SDI 400 E = 275751 FES 399 =233

N = 5083.12 N = 4931.66 N = 4584.76

STA 0400 N = 310412 STA 0+21 STA 1+72.46 STA 3+26.17 STA 4+79.88 STA 5+24.14 STA 7+00.99
Rim ELEV = 378.35’ Rim ELEV = 378.97 Rim ELEV = 379.15’ Rim ELEV = 379.15’ Rim ELEV = 379.17 Rim ELEV = 377.74 Rim ELEV = 374.00
ILE. 405= 375.99 ILE. 404 = 375.86 LE. 403 = 375.35 I.LE. 402 = 374.83 I.LE. 401 = 373.09 I.LE. 400 = 372.57 ILE. 400 = 370.50
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